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Write legibly.
Figure in right indicates full marks.
Do not write your name or institution’s name.

a)

b)

¢)

a)

b)

Describe the causes of over population in India.
HIRAHI @zl aauRi-u sRel aglal.
Describe the effects of over population in our country.
2uRn 2Hi azdlagiid s12a) adl R0 aelq $3l.
What are the steps to be taken to control the population in India?
MIRAME Al quRd [RastRL s sul sul ualal da FiSH?
OR

Write down the hazards of large family. #i2t WRaizA 5129 A iviul dvil.,

Describe the advantages of small family. -t WRai2-L s14€L %Qual.
Describe the role of a nurse in family welfare programme.
5201 seuRl silsHl -0l Gt [QadaR aglq sai.

Describe all major health problems in India
QIR Hua 2122, AL aglal.
What are the controlling measures for STD?
A1 8L4A. A [ sa0 il warai sul 697
OR
Write the principles and purposes of home visiting.
SiH QAo [aetiidl 249 Sqil dvil,
What will you do to increase the number of deliveries in PHC?
22,0 1l wydla ) Adva agizar w2 A g s20?

Write short answers (Any Two) Zs41L sl avil (518 ua o)

1.

4,

Describe the Millennium development goals.

AU Jaaud-2 2 agldl.

Narrate the care of physically & mentally challenged child.
WRAs 27wl [Asaio sunsl wraR aglal.

Explain the steps to improve environmental sanitation.
wafaellu 2a269dl quRaiAl uoLal AMFLAlL.

Explain about barrier methods in family planning.

Sl wHami ailRuz Aas [@d unendl.

Werite short note (Any Three) 5 i@ avil. (51§ ua Q)

M e

RNTCP Components — RNTCP - &2si
Demographic stages- 3Hi2udls 2%

Injectable Contraceptives- §-35201d stz
Functions of PHC- PHC - il

Functions of WHO- WHO -u 11l
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Q-5 Define following (Any Six) carvar uul (5§ ua ¢9) 6x2=12

1.
3.

Comprehensive Health Care- sivld=fla ¢ 32 2. Demography- 31iusl
DOTS- siza 4. Fertility- s3ldll 5. Vital Statistics- aifed 2R2dsu

6. Target couple- 2132 sua 7. Planning- wu-lor 8. Disability- fluielllél

Q-6(A) Fill in the blanks. vuell %o w2\ 05

1.

ICDS stands for
ICDS o 2uv uH

2. is the scientific study of the human population.
A gt uidan 0 usFe4ls 228 sdaumi 2ud 8.
3. Nyay Panchayat consists of members from panchayat.
A1 YARAHE AL AL AL AU WA B,
4. NRHM & NUHM are managed by ministry for
NRHM 214 NUHM i GIR ERAEIR B L OTIRT A
5. Three tire structure of local self-government in India is know as
Al Aes dlarin-2ul Ul 21UR 225U MIRAHL 691 sUi AR UL 2019 &
(B) Write Multiple Choice Questions. -2+ uiell Al oL avil. 05
1. Which are the following is called “Health Survey & Planning Committee”?
Auuiell 56 "deat ud 2 wdloy sHA " s8au ©?
a. Bhore committee(1946) b. Mudaliar committee(1962)
c. Chadha committee(1966) d. Jain committee(1966-67)
2. National Goitre control programme was launched in
Aana o2 $21a M 21 ad A3 sami 2l
a. 1952 b. 1957
c. 1962 d. 1967
3. Which of the following is not a preventive step of diarrheal diseases?
QA Higdl 54 uoLd 3L AL 2519 e .
a. Sanitation b. O.R.T
c. Health education d. Immunization
4. Data regarding birth, death and marriages are called
%~H, QL B QAL 321 A s8uY 8.
a. Statistics b. bio statistics
c. Health statistics d. vital statistics
5. Whooping cough is caused by
altion 55 21U 51280 A 6.
a. Varicella zoster b. Paramyxo virus
c. Bordetella Pertussis d. Enterovirus
(C) Match the following. %isst #isi. 05
A B
1) PHC - dl.ia.: 1) Diarrhea - sid<la
2) International women’s day 2) 70 April
2 ud qu-A 3 CE2IDIE]
3) ORS 3) Covers 30,000 population
2L2AUR. AU 30,000 | axd) 214l 4 8.
4) CHC 4) 8™ March
Al2in. A ¢ WAl
5) WHO day 5) Covers 1.2 lakh population
soa. A1 3 1.2 A dddl 2uadl 4 8,

6) Fever - da



